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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 What is meant by ‘convention of full disclosure’?

		  "nyU© àH$Q>rH$aU H$s naånam' go ³¶m Ame¶ h¡?

	 (ii)	 How the closing stock is valued under the convention of 
conservatism.

		  é{‹T>dm{XVm H$s naånam Ho$ AZwgma A§{V‘ ñQ>m°H$ H$m ‘yë¶m§H$Z {H$g 
àH$ma {H$¶m Om¶oJm?

	 (iii)	 What is meant by ‘Indian Accounting Standards’? Who 
issues Indian Accounting Standards?

		  "^maVr¶ boIm ‘mZH$' go ³¶m Ame¶ h¡? ^maVr¶ boIm ‘mZH$m| H$m 
{ZJ©‘Z H$m¡Z H$aVm h¡?

	 (iv)	 How the ‘Calls in Arrears’ are represented in the Balance 
Sheet?

		  "~H$m¶m ‘m§J' H$m {MQ²>R>o ‘| {ZénU {H$g àH$ma {H$¶m OmVm h¡?

	 (v)	 Give Journal Entry for cancellation of debentures 
immediately after purchase.

		  F$UnÌm| H$m H«$¶ H$aHo$ VwaÝV aÔ H$aZo na H$s OmZo dmbr OZ©b 
à{dpîQ> Xr{O¶o&

	 (vi)	 Which profits are available for issue of Bonus shares? 
Name them.

		  ~moZg A§em| H$mo {ZJ©{‘V H$aZo Ho$ {b¶o H$m¡Z-H$m¡Z go bm^ CnbãY 
hmoVo h¢? Zm‘ Xr{O¶o&

	 (vii)	What do you mean by Goodwill or Capital Reserve for the 
purchase of business?

		  ì¶mnma IarXZo na »¶m{V ¶m ny§OrJV g§M¶ go AmnH$m ³¶m Ame¶ 
h¡?
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	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 What are redeemable preference shares? State the legal 

provisions regarding redemption of such shares?

	 emoYZr¶ A{Y‘mZ A§e ³¶m h¡? BZ A§emo Ho$ emoYZ g§~§Yr d¡Ym{ZH$ 
àmdYmZm| H$m CëboI H$s{O¶o&

3)	 What do you mean by Debentures? Distinguish between share 

and debenture.

	 F$UnÌm| go Amn ³¶m g‘PVo h¡? A§e VWm F$UnÌ ‘| AÝVa ~VmB¶o&

4)	 What do you understand by ‘Marked and unmarked shares’? 

How liability of underwriters is determined on this basis?

	 {MpÝhV Ed§ A{MpÝhV AmdoXZ nÌm| go Amn ³¶m g‘PVo h¡? BZHo$ AmYmana 
A{^JmonH$m|H$m Xm{¶Ëd {H$g àH$ma go {ZYm©[aV hmoVm h¡?

5)	 Write notes on following:-

	 (i)	 Declaration of Dividend out of reserves

	 (ii)	 Issue of Bonus shares

	 {ZåZ na {Q>ßn{U¶m± {b{I¶o …-
	 (i)	 g§M¶m| ‘| go bm^m§e H$s KmofUm
	 (ii)	 ~moZg A§em| H$m {ZJ©‘Z
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6)	 Explain different methods of reduction of share capital. Give 

Journal Entries in the books of a company adopting capital 

reduction scheme.

	 ny§Or ‘| H$Q>m¡Vr H$s {d{^ÝZ ar{V¶m| H$mo g‘PmB¶o "ny§Or ‘| H$Q>m¡Vr H$s 
¶moOZm AnZmZo dmbr H$ånZr H$s boIm nwñVH$m| ‘| OZ©b à{dpîQ>¶m§ Xr{O¶o&

7)	 What is super profit? How will you calculate goodwill by super 

profit?

	 A{Ybm^ ³¶m h¡? A{Ybm^ Ho$ AmYmana »¶mVr H$m ‘yë¶m§H$Z Amn {H$g 
àH$ma H$a|Jo?

8)	 Define the term ‘contributory’. What persons may be made 

liable as contributories? What is the nature of their liability as 

present and past members?

	 "YZXmVm§ eãX H$s n[a^mfm Xr{O¶o' YZXmVmAm| Ho$ ê$n ‘| H$m¡Zgo ì¶p³V 
CÎmaXm¶r R>ham¶o Om gH$Vo h¢? dV©‘mZ VWm ^yVnyd© gXñ¶m| Ho$ én ‘| 
CZHo$ Xm{¶Ëdm| H$s ³¶m àH¥${V h¡?

9)	 Define Accounting. Who are the users of accounting 

information? Explain them.

	 boIm§H$Z H$mo n[a^m{fV H$s{O¶o& boIm§H$Z gyMZmAm| Ho$ à¶moJH$Îmm© H$m¡Z 
hmoVo h¢? g‘PmB¶o&

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.
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(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 What do you mean by Accounting concepts and conventions? 

Explain briefly important accounting concepts and conventions.

	 boIm§H$Z AdYmaUmAm| Ed§ naånamAm| go AmnH$m ³¶m VmËn¶© h¡? à‘wI 
boIm§H$Z AdYmaUmAm| Ed§ naånamAm| H$mo g§jon ‘| g‘PmB¶o&

11)	 How will you deal with the following items in case of 

Amalgamation of companies :-

	 (a)	 Mutual Debts

	 (b)	 Unrealised Profit

	 (c)	� Purchase consideration in case of Amalgamation in the 

nature of merger.

	 (d)	� Purchase consideration in the case of Amalgamation: in 

the nature of purchase.

	 Amn EH$sH$aU H$s pñW{V ‘| {ZåZ ‘Xm| Ho$ gmW {H$g àH$ma ì¶dhma H$a|Jo&
	 (A)	nmañn[aH$ F$U
	 (~)	Z dgyb hþAm bm^
	 (H$)	{db¶ H$s àH¥${V Ho$ EH$sH$aU ‘| H«$¶ à{V’$b
	 (S>)	H«$¶ H$s àH¥${V Ho$ EH$sH$aU ‘| H«$¶ à{V’$b

12)	 Gyan Ltd. issued a prospectus with the object of inviting 

applications for 10000 equity shares of ̀  10 each at a premium 

of 10% payable ` 3 on application, ` 5 (including premium) on 

allotment and the balance on call. The issue was subscribed to 
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the extent of 2½ times. Applications for shares below 20 (5000 
shares in total) were rejected. An application for 5000 shares 
was given 1000 shares. The remaining shares were allotted 
pro-rata. The excess amount to the extent of allotment due 
was retained. share-holders holding 300 shares failed to pay 
the allotment money and call money. Shareholders holding 
150 shares failed to pay the call money. All 450 shares were 
forfeited.

		  Show the journal entries including cash entries.

	 kmZ {b{‘Q>oS> Zo ` 10 dmbo 10000 g‘Vm A§emo Ho$ {bE 10% àr{‘¶‘ 
na AmdoXZ Am‘§{ÌV H$aZo Ho$ {bE à{ddaU {ZJ©{‘V {H$¶m& BZ A§em|na 
AmdoXZ na ` 3, Am~§Q>Z na ` 5 (àr{‘¶‘ g{hV) Am¡a eof am{e ‘m§J 
na Xo¶ h¡& {ZJ©‘Z Ho$ {bE 2½ JwZm A{^XmZ àmßV hþAm & 20 A§em| go 
H$‘ AmdoXZ nÌ (Hw$b 5000 A§e) AñdrH¥$V H$a {X¶o J¶o& 5000 A§em| 
Ho$ EH$ AmdoXZ H$mo 1000 A§e {X¶o J¶o& eof H$mo ¶WmZwnmV Am~§Q>Z {H$¶m 
J¶m& 300 A§em| Ho$ YmaH$ Am~§Q>Z am{e Ed§ ‘m§J am{e H$m ^wJVmZ H$aZo 
‘| Ag‘W© aho& 150 A§em| Ho$ Ymar ‘m§J am{e H$m ^wJVmZ H$aZo ‘| Ag‘W© 
aho& g^r 450 A§em| H$mo OãV H$a {b¶m J¶m&

		  amoH$S> à{dpîQ>¶m| g{hV Amdí¶H$ OZ©b à{dpîQ>¶m§ Xr{O¶o&

13)	 What do you understand by ‘Valuation’ of shares? Describe 

the yield ‘valuation method’ of valuing shares with suitable 

example.

	 "A§em| Ho$ ‘yë¶m§H$Z' go Amn ³¶m g‘PVo h¡? A§em| Ho$ ‘yë¶m§H$Z H$s 
"à{V’$b ‘yë¶m§H$Z {d{Y' H$m CXmhaU g{hV dU©Z H$s{O¶o&


